Ap :=0.2 P ini=1 L:=0.04 V=2 W,:=0.300
0,,:=21.0 V_:=22.71 K :=7.63 K, :=14.42 P, :=0.2
CO, :=0.03 V_,:=17.64 K_,:=5.08 K,,:=11.99 Prpyi=0.2
A .P_.P
1 Je) o2 atm
Dy (t, 0)=- T.[o.oy(ozo—o]]—ws-roz
100 replaced with 1
A .P . P
1 p T CO2 T atm
D, (t, co)::v. T.[O.Ol.(COZO _co]]+WS 5
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CO,;
r[ozircozirVmIKm'Ki]’:Vm'Ozi‘Km+ 1+— "0y
i
oco, :=stack(21.0, 0.03) thin=0 toay = 80 steps := 80
oco = T
[021‘ Cogi ]:: OCOO
t:=t_.
min
-1
At = ( oax — tmin ] . steps
out::[ t 02_7'_ Coz_i ]
for n€ [1..steps|]
Loz =1 [021" CO%s v Vauz v Kz Kil]
Teoz =T [021 r €025 0 Vazr Kpzs KiZ]
0,; ::rkfixed[OZi, t, t+4t, 1, Dl]
22
co,, ::rkfixed[CO2i, t, t4+4t, 1, D2]
22
ti=t 4+ At
out := stack[out, [ t 0,; CO,; ]]
out
0,; = augment(col(oco, 1), col(oco, 2))
€O, := augment (col(oco, 1), col (oco, 3))
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